) c
0 .
3 3 I
8 &
[$)
o R}
S )
k) €
n o
S : | 8 e
_P.v M wm ‘O O g nwv
Pz8e c C m Muuu
SEIsg| [ g &l 8
SXEZE 5 sl L
Su s38 N >
tm\A s &is| s | Z
O i =
o) @ o 9 -
' a s | 328 | >
. o S = O
2 52 | O .
@ S0 s| g
ty Se W . m :
338 M £
o0 3
“E1S
m ) &l
£ : ;|
D =8 A
v Oumwgomo m m Mw.m a _I.
ty = 1 K
iy sgi| v
- 55t
s X2
8 cgs | S 15 |
Bg2 | 5 B:2
% O ®© m ER-]
A [0)
s g2 4 -
E_ o =18
O S 5 P ,
£ | 5|8
L= 5 H
g ¥ |2 o =
» © 2 s
(0] e 5 m
= © 13 5
= 2
c
F -
Q m
8 ¢
W’ (&)
KTk g m
m 2+1 :
99,23 -
M= 587407957 :
1 ©
€)= 6495371 g : :
o ©°
£ €
> -—
=z 2 5 B
T N & @,
© ) & € £©.2
o L N < 5 W
R c N N 8 RS
! S & & & o3
% = 2 3 33
& © ©O
- &£ £ & 22
| g
i R
| 709 S
71.0 N\
Lsy
465,11
3
AL
QK2
0 21
2% km 2+100.0
PLK 2+094,53
dr
465/10
2+037,77
il
mi |
| 664
733 >
/]
Amm\m B
kb,
2+012.59
73.5k
73.60
3. 73.4
5 57%5.000,00 20
I
K291 85
/3.5
73.4
.5
73.7 rsa
(@)
°D 5
A
No
o}
o}
73 Ao
. o 465
Ao \\ﬂ
A
w5
O A
(74 O A
o
N o
465 /15
75.6
465,17
465/19
79

736 T
72.89
- w
A
) h
72500\
= RN
Q
dr
e PLK 1+781,08
Amo\ﬂm
73 71. 7%
Rv Iw
71.1 m




	Arkusze
	RYS 2(5)


